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ey el U & fofy S&iATet @ S
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(A) fFofiRes

(B) TeIRE

(C) derIHe

(D) HeMCHC

qedl 3R Bed do & galedl Bl o
T @ fov fhw R @ Swn fha
T 8 ?

(A) Baa forve fafer

(B) eI fafer

(C) g ol fafdr

(D) SWa ¥ ¥ I3 T

qUG G # RBC 1 fAAfor 2 2
(A) a9 H

(B) 3rRer wouTT H

© g% d

(D) 3FNIRE H
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A drug used for mid trimester abortion is :

(A) Mifepristone

(B) Atosiban

(C) Valethamate

(D) Methotrexate

Which method is used to carry children

and lightweight casualties ?

(A) Blanket lift method

(B) Cradle method

(C) Human crutch method

(D) None of the above

In adult human RBC is formed in :

(A) Liver

(B) Bone marrow

(C) Kindey

(D) Pancreas
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4. T=faRed § 9 o9-91 75y ¥ gfae 4. Which of the following is the primary sex

B T & 7 organ in male ?

(A) gy (A) Testis

(B) UR<T (B) Prostate

(C) Yshaifee (C) Vas deferens
(D) PRI (D) Seminal vesicles

5. frfaRed § ¥ @9\ WIEF gy @1 5. Which of the following proteins affects

T, s the cardiorespiratory centres and central
nervous system ?

PT JHIfI vl © 2

(A) R A (A) Neurotoxin A

(B) wRIcda B (B) Neurotoxin B

(C) <RI C (C) Neurotoxin C

(D) SRIEIT D (D) Neurotoxin D

6. fohedl & fharcAd sars @ : 6.  The functional unit of the kidney is :

(A)  TAar (A) Ureter

(B) YA (B) Glomerulus

(C) T (C) Nephron

(D) =wlzdH (D) Hilum

2020201 (4) Set-C



W B GEE g By B o fha
Bl & ?

(A) 45 55 T

(B) 20 ¥ 35 T

(C) 70 ¥ 85 I

(D) 75 ¥ 95 TN

Y I B I ddb ded b fhbad e
fyper ama & 7

(A) 25
(B) 20
(C) 10

(D) 15
QY M @ fhar &

(A)  FPITRID
(B) SISIV] DI TR H S | bl

(C) BT Bl e & TS H A |
Rl

(D) T-3RATCINA
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(5)

Length of newborn at the time

of birth is :

(A) 45to55cm

(B) 20to35cm

(C) 70to85cm

(D) 75to95cm

How many teeth of children come out by

the end of two years ?

(A) 25

(B) 20

(C©) 10

(D) 15

The action of the vaginal diaphragm is :
(A) Spermicidal

(B) Prevent the ova to come in the

uterus

(C) Prevent the sperm to come in

contact with ova

(D) Anti-implantational

Set-C



10. =foRed § 9 o-ar O GaiRa I/ 10. Which of the following is not a sexually

transmitted disease ?

el 8 ?
(A) TUsd (A) AIDS
(B) 3J&HT (B) Tuberculosis
() Rwferd (C) Syphilis
(D) THIRAT (D) Gonorrhoea
11.  TIRTGIEIT ®T 8 ? 11.  What is agoraphobia ?
(A) ?g?ﬁ SEGECIRSH (A) Fear of open spaces
(B) {x’ﬁ AT BT X (B) Fear of other people
(C) Wi AT BT S (C) Fear of natural disaster
(D) IR & & (D) Fear of noise
12. HUd F{f%?m """"""""""" $ 9d B 9 12.  Corpus lutem is the source of secretion
3 of :
(A) TEISIA (A) Estradiol
(B) WIS (B) Estrogen
(C) TR (C) Progesterone
(D) SUYa H A Bl 7l (D) None of the above

2020201 (6) Set-C



13.

14.

15.

RIS 1 fohar 2

(A) B FUSIAT TR 3R
B DA

(B) ®Id IS 3R AT @l
RIGATH

(C) Had TSI Pl IhAH

(D) femarfesl # avel & ol | wIRd
ERICIINES

B W B & w9 H S

I & |

(A) TGO

(B) ST GURHI goiiad
(C) drEl vqe

(D) =IR® a4

§5IHD IIERWRS fafdedr H foaT w93
AT & ?
(A) 5 TY
(B) 4 ¥
(C) 3aY

(D) 1 a9

7020201
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13.

14.

15.

The action of contraceptive is :

(A) Prevent the ova to come in the
uterus only
(B) Prevention of ovulation and

fertilization only

(©)

Prevent ovulation only

(D)

Prevent rapid passing of eggs in the

oviduct

The artifical respiration is also known as :

Nebulisation

(A)
(B)

Cardiopulmonary resuscitation

(©)

External respiration

(D)

Internal respiration

How much time is required in dialectical

behavioural therapy ?

(A) 5years
(B) 4 years
(©)

3 years

(D) 1 year

Set-C



16.

17.

18.

& GPR @& WaR H TSl (& NG
TC IR ? AR T WE W JS & @
i IR-DaaR arell g1 oI A fear o

e ?

(A) 3ol shaar

(B) TR<H haR
(C) TIfdd haR

(D) fRenfid R
e IR Feard @ -
(A)

(B) THRM

(C) wiEMe

(D) SWa ¥ ¥ IS Tl

IRT H LY IRIR WReG 3R HednoT
HRIHH B IR TaNT ?

(A) 1947

(B) 1952

(C) 1953

(D) 1979

7020201
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16.

17.

18.

Which type of fracture, the bone breaks
from one side and remains attached to the
other side to provide a bent to the non-

fractured bone ?

(A) Incomplete fracture
(B) Greenstick fracture
(C) Impacted fracture

(D) Displaced fracture

The fertilized cell is called :

(A) Embryo

(B) Uterus

(C) Zygote

(D) None of the above

When was National Family Health and

Welfare Programme started in India ?

(A) 1947
(B) 1952
(C) 1953

(D) 1979
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19. 3fMgded & 9 & d91d f[deR & &0 19. The symptoms of post-traumatic stress

¥ o © disorder include :
(A) Zb_s‘ 3TTT-3TTT Sl DI g8l W™ (A) Worry over many different life
- events
(B) fIURI @ SsM (B) Flight of ideas
(C) 7 qH 3R 99 (C) Hallucination and delusions
(D) Td T&ATdh AT df R F S+ (D) Reliving a traumatic event
20. foe TSI ® gfdd dP 20. The kidney regulates blood pressure by
G ) PR v 2 secreting the enzyme :
(A) (A) Renin
(B) uftes (B) Pepsin
© @'ﬁ}ﬂ:{ (C) Trypsin
(D) Suga H A Bl el (D) None of the above

21. fa=foRed & ¥ o9-91 §del ofT 78  21.  Which of the following is not a sensory

g ? organ ?
(A) I (A) Skin
(B) i (B) Eye
©) T8 (C) Mouth
(D) &M (D) Ear

2020201 (9) Set-C



22.

23.

24,

25.

7020201

e § & DIF-|1 S Yol &1 ST
Tl B ?

(A) IS B TH WISl

(B) a4 Afera

(C) THRM

(D) SWw # ¥ P T

IS B A T BTSS! B

(A)  IeaRerdi
(B) TW¥
(C) W

(D) ag

fhetl et Yaq dIRIGRI & ITed Bl
(A) A

(B) faeifd <

(C) ufted

(D) TRegfes

AMd IRR H e @ ufhar el Bl
g ?

(A) THIIE

(B) femarel wfere

OSSN

(D) S H § P T

(10)

22.

23.

24,

25.

Which of the following is not a part of
female reproductive system ?

(A) A pair of ovaries

(B) Sperm duct

(C) Uterus

(D) None of the above

The longest bone of the forelimb is :

(A) Phalanges

(B) Humerus

(C) Femer

(D) Thoracic

The kidneys increase red blood cell
production by secreting :

(A) Renin

(B) Vitamin D

(C) Pepsin

(D) Erythropoietin

Where does the process of fertilization
take place in the human body ?

(A) Uterus

(B) Fallopian tube

(C) Ovary

(D) None of the above
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26. Faurd frg # MFENfeT @1 wR fham 26 Hemoglobin level in  newborn baby

NI, IS :
(A) 12 JH% (A) 12 gram %
(B) 10 UMH % (B) 10gram %
(C) 18 UM% (C) 18 gram %
(D) 20 UMH % (D) 20 gram %
27. M & PR U6 UBR ¢ : 27.  The panic disorder is a type of :
(A) JTIFTUXACT DT (A) Depressive
(B) feidr @ (B) Anxiety
(C) IS T (C) Mood
(D) BIAF® (D) Imaginary

28. YOG ABI (feiRad & 91g d=g  28.  Seminiferous tubules develop central

e fawfid e € - lumen after :

(A) - Jarae (A) Old age

(B) o (B) Birth

(€) e (C) Puberty

(©) thja\——[ H ¥ g T (D) None of the above

2020201 (11) Set-C



29. %9 & fohaw fedi a7 grefice &idr 29.  After how many days of fertilization does

27 implantation occur ?
(A) 8 fed (A) 8days
(B) 7 fed (B) 7 days
(C) 6 fed (C) 6days
(D) 5 fed (D) 5days
30. Iquird Ry @ gfgdl bl & § 30.  Number of bones of a newborn child is :
(A) 270 (A) 270
(B) 300 (B) 300
(C) 200 (C) 200
(D) 206 (D) 206

31. ffeifEd # 4 @9-91 U6 Jo9 gRI 31. Which of the following is a birth control

ST fhwr WM drer o= I device used by a male ?
YR © ?

(A) BIRC (A) Copper-T
(B) WM dTell Meft (B) Oral pill

©) frw (C) Condom

(D) SRIHM (D) Diaphragm

32. O b §HY f?l"{[ @ ARA P YR Bl 32. The weight of the baby’s brain at the time

2 of birth is :

(A) 350 9MH (A) 350 gram
(B) 450 UMH (B) 450 gram
(C) 300 U™ (C) 300 gram
(D) 200 9M™H (D) 200 gram

2020201 (12) Set-C



33. 3gdIC & ol Yo Ufdd SUOR ® 33. The first line treatment for depression is :

(A) FiaREn (A) Anti-anxiety
(B) SR (B) Anti-manic
(C) FgATERI (C) Anti-depressants
(D) AIfaferaRE (D) Anti-psychotics

34. TR g o fohdw feai @l 34. Approximately how many days is the

S 22 gestation period ?
(A) 200 fed (A) 200 days
(B) 280 fa7 (B) 280 days
(C) 295 fed (C) 295 days
(D) 300 fed (D) 300 days

35. 3T 9 BHE-9U R WHIRIGT H TS

35. Which of these is an accessory

HEgd o Ufer g ? reproductive gland in male mammals ?
(A)  TEoT Tfer (A) Inguinal gland

(B) TUR<e Ul (B) Prostate gland

(C) SR Uf (C) Gastric gland

(D) SUYa H A Bl 7l (D) None of the above

2020201 (13) Set-C



36.

37.

38.

39.

7020201

HAQIT Y F9E BI-41 § ?

(A) AB
(B) B
(€ O
(D) A

N B A T A E

(A) oA

(B) ST (Fefifae)
(C) R

(D) STda # & Big AL

XX TORE IR 9 R

(A) foar o

(B) AT ¥

(C) SN (A) 3R (B)

(D) SWa ¥ ¥ I3 T

fFfoiad & dI9- Ua s T
TR ?

(A) mRIES i

(B) TfTet T

(C) Urgw uf
(D) @R T

(14)

36.

37.

38.

39.

Which is Universal Donor blood group ?

(A) AB
(B) B
(C) O

............ are false beliefs that do not go
away even after they have been shown to

be false.

(A) Delusions
(B) Schizophrenia
(C) Paraphrenia

(D) None of the above

XX chromosomes is found in :

(A) Father
(B) Mother
(C) Both (A) and (B)

(D) None of the above

Which one of the following is not an
endocrine gland ?

(A) Thyroid gland

(B) Adrenal gland

(C) Pituitary gland

(D) Salivary gland
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40. TURIAT B FET B T 40. The number of chromosomes are :

(A) 23 Gﬁ@ (A) 23 pairs
(B) 43 Gﬁ@ (B) 43 pairs
(C) 33 Trﬁ@ (C) 33 pairs
(D) 53 Gﬁ@ (D) 53 pairs

41, T TR AERNIS Rofd S arafdedr 9 41. A severe psychotic condition signified by

TH & JHAH | FHd B 8, I4 loss of contact with the reality is termed
BT Il © : ®
(A) R (A) Paraphrenia
(B) Ty (B) Hallucinations
(C) TSIbfRI (C) Schizophrenia
(D) SWE ¥ | TS el (D) None of the above
42, dfedT BT 9 & : 42.  Genetic molecule is :
(A) ST (A) DNA
(B) ¥R T T (B) RNA
(C) SHENrg (C) Chromosomes
(D) Suga H A Bl el (D) None of the above
43. AT BT YO GE HECM & : 43.  Mother’s first milk is called :
(A) g g (A)  White milk
(B) Ulell gy (B) Yellow milk
(C) dldReH (C) Colostrum
(D) SUYa H A Bl 7l (D) None of the above

2020201 (15) Set-C



44, XY TURA YT STl 2 44, XY chromosome is found in :

(A) I H (A) Mother
B) foer 4 (B) Father
(C) T (A) 3R (B) (C) Both (A) and (B)
(D) SWE ¥ | FIg el (D) None of the above

45. DHF-GT OeX AUh WY 9 SGuid 2rdr 45.  Which poison is absorbed on a large

37 scale ?

(A) BEMEG A qTel (A) Organic chemical substance
(B) JIPEfD AR dTed (B) Inorganic chemical substance
(C) &rRJ (C) Alkaline

(D) 3y (D) Acidic

46. & 99 T W F foree Akt @ gy 46, How many women die due to delivery or

TG A7 THaRe 9 SReadel & BRO 8 pregnancy complications in the world
S every year ?

(A) 45 g (A) 45 lakhs

(B) 359 (B) 35 lakhs

(C) 25 g (C) 25 lakhs

(D) 55 o9 (D) 55 lakhs

2020201 (16) Set-C



47.

48.

49,

7020201

ARl & Pl W BI-DHHF W e
fewe & ?

(A) RRee T @R

(B) ¥ ¥ AN Maber

(C) SN MEeT va Sect

(D) SHIF W

g # 9 SI9-H1 J9aqd Yo wawef
THieRe H ANTEH HR Febell & 7

(A) T

(B) <f® facrfim qen wifes RS
(C) M

(D) Suda Wl

ffeg 3 & 97 IE-OH
fewet € ?

(A) T D [T H IR

(B) 3w

(©) =M (A) 3R (B)

(D) SWad # | BIS T

(17)

47.

48.

49.

What are the signs and symptoms after

animal bites ?

(A) Headache and fever
(B) Foaming at mouth
(C) Nausea and vomiting

(D) All of the above

Which of the following prenatal practices

can contribute to a healthy pregnancy ?

(A) Nutrition

(B) Daily vitamins and folic acid

(C) Exercise

(D) All of the above

What are the symptoms after scorpion

bites ?

(A) Change in skin colour

(B) Vision problems

(C) Both (A) and (B)

(D) None of the above
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50. 1@ &1 9= $1 el @ 50. The chief function of a tongue is :

(A) T D YA AT (A) to recognize smell

(B) TTE DI I BT (B) to feel taste

(C) &I drdTaNv] q SRGICaE (C) safety from exterior atmosphere
(D) SWE ¥ | FIg el (D) None of the above

51. UifAd GEUdl & ABC 99 § B @ 51. What does B mean in ABC rule in first

ared @i & ? aid?

(A) R oA (A) Breathing

(B) drgHr (B) Airway

(C) d&aU (C) Backup

(D) Suga H A Bl el (D) None of the above

52. W US (First aid) ¥ @7 WA @Wawe  52. Who first introduced the word First Aid ?

fepert fopar 2

(A) ¥T WM TR TR (A) St. John Ambulance Association
(B) fIva Afswa TRy (B) World Medical Association

(C) Il (C) UNESCO

(D) fdvd W@ReY |Teq (D) WHO

2020201 (18) Set-C



53, ). O IR H T ® 53.

(A) 919 99 3R U ¥ WR

(B) ¥ # Heqed IR 219 A

(C) SR 9T IR R W

(D) Bl e 3R Ue § WR

54. fiva yofde fofecn foow fow s & 54.

T T 8 2
(A) Jelg
(B) 3N
(C) Rma=x

(D) SR

55. fbdl I @ Rufd & W oxd 99y 55.

e UBel T HRAT AMRY ?

(A) aEY del @ fory S &

(B) UIfST & a1 X IR I BY B
feary

(C) WM o & foly Wi &y

(D) SR H A Pl Tl

2020201 (19)

CPR involves :

(A) Rescue breaths and abdominal
thrusts

(B) Chest compressions and rescue
breaths

(C) Abdominal thrusts and finger
sweeps

(D) Chest compression and abdominal

thrusts

In which month is the World First Aid

Day celebrated ?

(A) July

(B) August

(C) September

(D) October

What is the first thing to do while

checking the condition of a patient ?

(A) Check for external injuries

(B) Speak to the victim and shake his
shoulders

(C) Check for breathing

(D) None of the above

Set-C



56. fermiforlRad § @ dIF-97 fodl @71 &7 ggd 56.  Which of the following is the most

BT FIG T eI % ? common symptom of a heart attack ?

(A) SN @I ThalID (A) Shortness of breath
(B) @l (B) Cough
(C) WM (C) Chest pain
(D) il frerer (D) Nausea
57. 3gfoM Suiac fohar e @ - 57. Insulin is injected into :
(A) 3TIHA H (A) Intradermal
(B) SRR H (B) Intramuscular
(C) weagefrad # (C) Subcutaneous
(D) scRIREN # (D) Intraosseous
58. e Sl 9 @ e AT B ? 58. What are the symptoms of first degree
burn ?
(A) HCll o (A) Slight swelling
(B) @Al W oTell (B) Redness on the skin
(C) G (A) 3R (B) (C) Both (A) and (B)
(D) SUYa H H IS Tl (D) None of the above
59. fivd WRey WTed @ Y™ Req 59. Headquarters of  World  Health
2 Organization is located at :
(A) e H (A) Geneva
(B) o # (B) London
(C) < ¥ (C) New York
(D) foeel # (D) Delhi

2020201 (20) Set-C



60. d. W1 S &1 ST F TRT ST § 7 60. Why is the BCG vaccine given ?

(A) & (A) Cholera
(B) I 4l (B) T.B.

(C) P (C) Smallpox
(D) fee=™ (D) Tetanus

61. f=IferlRad # | dIF-97 AFRID T & 2 61.  Which of the following is a mental illness ?

(A) STeullgHx (A) Alzheimer
(B) feHfemn (B) Dementia
(C) THI (A) 3R (B) (C) Both (A) and (B)
(D) SWE ¥ | TS el (D) None of the above
62. U AMG IR H B fha gl ug 62. How many bones are found in adult
Sy & ? human body ?
(A) 320 (A) 320
(B) 206 (B) 206
(C) 306 (C) 306
(D) 270 (D) 270

63. & B BB g XA dATH HEd I 63.  Which is the human organ that purifies

PHE-ITT T ? blood by filtering ?

(A) Ind (A) Liver

(B) W (B) Lungs

(C) Tl (C) Kidney

(D) SUYa H A Bl 7l (D) None of the above

2020201 (21) Set-C



64. dIgd WRew Tae fodt @y o fear 64,

T ?

(A) 1980
(B) 1982
(C) 1984

(D) 1986

65. ‘HRIISI’ I S7TT © 65.

(A) eforaT @
B) oW
(C) dfeq w
(D) W

66. TaNT Rl U B G BRI § - 66.

(A)  gFI

(B) g G

(C) THI (A) 3R (B)
(D) SWad # | BIg T2

67. 3D Hice I HH-UT UL g8 Ol & ? 67.

(A) B ugl
(B) fBRIHEl ug)
(C) WA Tl

(D) R TS

2020201 (22)

Juvenile Justice Act is introduced in the

year :

(A) 1980
(B) 1982
(C) 1984

(D) 1986

The word ‘Psychology’ comes from :
(A) Italian

(B) Greek

(C) Latin

(D) Spanish

The main reasons of respiratory diseases

are :
(A) Smoking

(B) Air pollution
(C) Both (A) and (B)

(D) None of the above

Which bandage is made from 3D mould ?

(A) Triangular bandage
(B) Kirigami bandage
(C) Liquid bandage

(D) Compression bandage

Set-C



68. TINON®D RIS fhNol | @l DI el 68. What protects the skin from harmful

T BT R ? ultraviolet rays ?
(A) HelfF (A) Melanin
(B) HH (B) Sebum
(C) ufrsfi (C) Epidermis
(D) SWE ¥ | FIg el (D) None of the above
69. T& B Bl H1 Ugam  69. The pain reduction is the first objective
m%l Of v, .
(A) 3TE. ¥ Y IWER (A) ICU treatment
(B) WIIHd SUAR (B) First aid
(C) T (C) Medication
(D) W (D) Surgery
70. ¥RR &7 TH HeH T ST BIF-91 § ? 70.  Which is the second largest organ in the
body ?
(A) T&Hd (A) Liver
(B) fdel (B) Kidney
(C) o= (C) Skin
(D) W (D) Femur

71. W9 IRR A et sFeaRerdl gl § 7 71. How many phalanges are present in

human body ?

(A) 12 (A) 12
(B) 10 (B) 10
(C) 14 (C) 14
(D) 15 (D) 15

2020201 (23) Set-C



72.

73.

74.

75.

7020201

SIUSRCIRCE

(A) THRIGT & fdaR
(B) wHRIIgd fidr fadr
() WMRiIEd Ve I
(D) SUE F F P el

Afge & A TN & BY H S
g

(A) T

(B) THRM

(©) g

(D) JSEM

fbeit U &7 4 foba gl flheey @il
g ?

(A) 150 <.

(B) 200 @i

(C) 100 <.

(D) 250 <.

forer gl @ R @A & forg e fi
UeT &I S © 7

(A) Py og

(B) foRmT og

(C) SaReP Uel

(D) el e

(24)

72.

73.

74.

75.

The GAD stands for :

(A) Generalised Anti Disease
(B) Generalised Anxiety Disorder
(C) Generalised Antigen Disease

(D) None of the above

The external genital of female is known

as:

(A) Vagina

(B) Uterus

(C) Vulva

(D) Ovaries

How much water is filtered by the kidney
inaday ?

(A) 150 L
(B) 200L
(C) 100L
(D) 250L

In which bandage is a security pin
provided to secure it ?

(A) Triangular bandage

(B) Kirigami bandage

(C) Elastic bandage

(D) Liquid bandage
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76. WIS ffdedr § U9, T, 3R, 1 A ® 76. Meaning of MMR in First Aid is :

(A) 89 ¢ A8y KR (A) Mouth to Mouth Receiver
(B) HISY T AISY IR (B) Mouth to Mouth Respiration
(C) HISY T HISY WRYIR (C) Mouth to Mouth Rescuer
(D) SUYa H H Bl el (D) None of the above
77. UH ATY INR BT d99H BT @ ¢ 77. A normal body temperature is
(A) 94.6°F (A) 94.6°F
(B) 99.9°F (B) 99.9°F
(C) 98.6°F (C) 98.6°F
(D) 95.6°F (D) 95.6°F
78. TAMG TR W U b AIIE 9 AN 78. Sex education may be introduced at
R 3% B o gH 2| primary stage through ............... :
(A) IRRG R & 1T Thiaxor (A) Integration with physical education
(B) Wdl & IR § I (B) Knowledge about hygiene
(C) Y T (C) Nature study
(D) SUYa H § I el (D) None of the above
79. PHIR-C B R B ¢ 7 79.  What is the function of Copper-T ?
(A) FI I BT e B (A) Stop zygote formation
(B) v+ @I e B (B) Stop fertilization
(C) IURTIT BT W BT B (C) Check mutation
(D) SUYa H A Bl 7l (D) None of the above
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80. DALY & 3 2 : 80. The DALY stands for :

(A) Dynamic Adjusted Line Year (A) Dynamic Adjusted Line Year
(B) Disability Adjusted Large Year (B) Disability Adjusted Large Year
(C) Disability Adjusted Life Year (C) Disability Adjusted Life Year
(D) Disagree Avoid Life Year (D) Disagree Avoid Life Year
8l. TMI &1 3 & : 81. TMI stands for :
(A) CHRI-HSIER age (A) Temporo-Mandibular Joint
(B) SHRI-HeTHUed vaTse (B) Temporo-Metacarpals Joint
(C) SfPa-HSgeR waTge (C) Trachea-Mandibular Joint
(D) SWE ¥ | TS el (D) None of the above
82. Udh I Afdd & AR &l 3d IR 82. The average weight of brain in an adult
ST 2T R man is about :
(A) 1400 I (A) 1400 gm
(B) 1600 U™ (B) 1600 gm
(C) 1200 9™ (C) 1200 gm
(D) 1300 9™ (D) 1300 gm
83. PSNS &7 3 @ : 83. The PSNS stands for :
(A) RIS e o3 (A) Parasympathomatic Nervous
System
(B) WIRMIRfeHd IR A& (B) Parasympathetic Neuron Survey
(€) WNRMfes da Fder (C) Parasympathetic Nuclear Survey
(D) WiRmfesd der 73 (D) Parasympathetic Nervous System
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84.

85.

86.

87.

7020201

fehertl @1 AMBR HuT BT & 7
(A) T & JHR F

(B) T & MIR B

(C) W9 & 3MHR I

(D) SWH # | B T

frfeiad # ¥ H-9 MRS @ @
fafr & ?

(A) 3% . .9

(B) Sl 3. W, <.

(C) Td. <. T,

(D) SWE & W B &

ARl BT A RO B
(A) UR®F Aaf

(B) favTo srafd

(C) UHqadIel 3rarey
(D) UNAITR 3rafey

g TS SISURIAITAISS  (LSD)
Ue wfeqaret Aftym g R 999 1gad
FYlfa foam a7 o

(A) 1928

(B) 1930%

(C) 1938%

(D) 1936 #

(27)

84.

85.

86.

87.

What is the shape of kidney ?

(A) Square shaped

(B) Circle shaped

(C) Bean shaped

(D) None of the above

Which of the following is a method of
birth control ?

(A) 1UDs

(B) GIFT

(C) HTF

(D) None of the above

The final stage of pregnancy is :

(A) Initiation period

(B) Parturition period

(C) Perinatal period

(D) Postnatal period

Lysergic Acid Diethylamide (LSD) is a

powerful hallucinogen that was first

synthesised in :

(A) 1928
(B) 1930
(C) 1938

(D) 1936

Set-C



88. o oW MR BT &, e @ 88. Eyes are almost spherical in shape having

ST 2 & a diameter of about :
(A) 35 I (A) 3.5cm
(B) 25 JH. (B) 2.5cm
(C) 45 I (C) 45cm
(D) 2 ¥ (D) 2cm

89. N T Bl AT A el I © : 89. The frost bites are also called :
(A) T ST (A) Dry burns
(B) NN Slef T (B) Chemical burns
(C) les a4 (C) Cold burns
(D) 99 & (D) Sun burns

90. CNS &I 31 2 : 90. The CNS stands for :
(A) DI R Fdeo (A) Central Neuron Survey
(B) Bl dfdT (B) Central Nervous System
(C) HUCld T A (C) Cranial Nervous System
(D) SUYd H § I el (D) None of the above

01. 3T W PM-X a1 mufid SUR ¥ ¢ 91 Which of these painkillers should be
& forg % iRy ? given as first aid ?
(A) STSIUHA (A) Ibuprofen
(B) Wl (B) Metronidazole
(C) RrferH (C) Paracetamol
(D) T (A) IR (C) (D) Both (A) and (C)
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92. BICI 3ifd & AHTS BNl &
(A) 22 BT
(B) 20 WIc
(C) 18 WIT
(D) 25 Wic

93. AR @I G Y[ H AR & FRU

oA & BRI H 3D U AT §

(A) XFIAT
(B) 3ifaesea
C) W

(D) \cHl

94. w@rE fauradar Siar] & HROT ERN §

@ HROT Ao ¥ Bl ST 2 |
(A) GHT UHHT AT GIB
(8) 3rgferd gsferT
(C) I @ 3fferd AT
(D) S (A) 3R (B)

95. TUH TR fr=ferRad | 9 BT ©

(A) 6 @ W
(B) 4 U39 4T
(C) 3 W@ T
(D) 2 T@ W

7020201

(29)

92.

93.

94.

95.

The length of small intestine is :

(A)
(B)
(©)
(D)

22 feet
20 feet
18 feet

25 feet

........... is a sudden loss of brain

function caused by a disruption in the

brain’s blood supply.

(A)
(B)
(©)
(D)

Bleeding
Amputation
Stroke

Shock

Food poisoning is caused by bacteria that

have proliferated in food due to ............. :

(A)
(B)
(©)
(D)

The

Cooking or storage
Improper handling
Overdose of food

Both (A) and (B)

adult brain is composed of the

following :

(A)
(B)
(©)
(D)

6 major parts
4 major parts
3 major parts

2 major parts
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96. IR BT TN FT 3T PBIH-9T 8 7
(A) TR
(B) Iqd
(C) fds
(D) &l
97. TR Y@wg & forv WUfe SUARG
P TN TSl T AT AIRY 2
(A)  ITRioT ¢
B) s @ da B o Rufa &
(C) W% HUS IT 8I ¥ W1 G619 et
(D) % $US ¥ TP <
98. f=fafed & 9 @oF-91 FH I el
g7
(A) dR<IeR TRl @1 ariifor il
A HE I T |
(B) URFRM v& B & 8, I 98g
WIS ¥ &1 8% d bell gall & |
(C) TR Wi TR TRE Mk @l
[N ATl W BN B |
(D) TR Hfefdr Sl fore & gal
B |
7020201

(30)

96.

97.

98.

Which is the largest organ in the body ?

(A) Femur

(B) Liver

(C) Kidney

(D) Skin

What is the first thing the first aider

should do for severe bleeding ?

(A) Give oxygen
(B) Put the victim in recovery position

(C) Apply direct pressure with clean
cloth or hand

(D) Cover with clean cloth

Which of the following statements is not

true ?

(A) Vestibular glands are also known as

bartholin’s glands.

(B) Perineum is a triangular area which
extends from labia majora to anal
canal.

(C) Myometrium is the thickest layer of

the wall of uterus.

(D) The uterine tubes are covered with
broad ligaments.
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99, T g AR,  “HHIY: RIS 99. According to ............. “Generally mental

Ry WE[Uf fddcd Bl E{Uﬁjala Rerd health is the full harmonious functioning
o T of the whole personality.”

(A) BSHIcS (A) Headfield

(B) HYEHI (B) Kuppuswami

(C) dfred (C) Ladell

(D) SWE ¥ | TS el (D) None of the above

100. RO SraqTeUddl @ I8 41 el ordl 100. Persistent depressive disorder is also

3. called as :

(A) fegdr saare (A) Bipolar depression
(B) Tewliffam srade (B) Dysthymia depression
(C) WMRNIG IS (C) Psychotic depression
(D) HI 3JqdTg (D) Phobias depression
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10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

Te-gRA®T H UA® U & IR GRITad StR—
A,B,CTd D | Wemdt & 89 aRi fadwedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § Jufd u97 o §
o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 A ® ©

wm: D @ © ©
TSI TR AT U SR =8 BleT AT el T
&, T7 Tl H 3T MRaR fodm M1, I FAvved
fear S |

TG T B 3F FHE 2| AP R SR
e B, I B AR 3P YIM b SR |

T ST $ad 3N TH. IR, ST-T98 (OMR
Answer Sheet) WX 2 fo o 8| Sw-uAe A
uiRa WM & 3ramar =9 ®el W fear M
STR A T8l 81 |

3. TH. R, STR-U36 (OMR Answer Sheet) W
o N fore 9 7@ I A T W0 el @l
AaIgdd U foram S |

e T & SWa Wendt v MRee B
3T OMR Answer Sheet SUTE &XM & I
B T P F WRAH By | qRemeff o W
TE-QRAHT o S A ¢ |

ferife mifd T8 2 |
5 W X6 PR, TH-YRADET T 3 H, H-BR
& foru oy w@relt U1 W & fdan S ARy |

URIET-eT ¥ ANT-gab, Defdeicy, UoR a2l HegerR

B o ST 9T SHBT SN AT Iroid 2 |

7 & Rl U9 Sl wurReT § f=Tar g9 @l
T H U BT SN HUAROT & J= 2T |

HEAYU

—

| EAYRADT Fiel W YA G 9% o o

&
i3
£
e
3,
|
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